0.5ah (HKMO Classified Questions by topics)
1983 FG7.2 A E
B*® »ACDE 7 - &+ >35> AC = BC %
ZACB=90° - & ACDE s # & 10 cm? >
F AABC & & °

In the figure shown, ACDE is a square and

AC = BC, ZACB = 90°. Find the area of B c D
AABC if the area of ACDE is 10 cm?.
1984 FG10.1

— AP EN - EEEI02ZFl e F A ST e 0 RADE o

If 4 is the area of a square inscribed in a circle of diameter 10,

find the value of 4 .

1985 FSG .4

— AP AR - BLEEZI0LFl e F A2 s 40 RATE -
If A4 is the area of a square inscribed in a circle of radius 10, find the value of 4 .
1985 FG6.4 A
4etit Bl #7F » BALAC 2 AN L BC »
#AB=3>AC=d=4>AN=h> F h g - Y n
In the figure, BA 1 AC and AN L BC.
IfAB=3,4AC=d =4, AN = h, find the value of 4. § N ¢

1985 FGI.1

ALMN 2. = 8 £ 2 % 5 8~ 152 17 FALMN 2. % ff 5 A> K A g o
The lengths of the 3 sides of ALMN are 8, 15 and 17 respectively.

If the area of ALMN is A , find the value of 4 .

1989 FI3.3

— ARG BEEE L6DFl e KE A e i 40 K4 o

If A4 is the area of a square inscribed in a circle of diameter 16, find the value of 4 .
1991 FSG.1

- %#z 87553 £8/3em v 5 ff La3em? o fa hid o

The height of an equilateral triangle is 83 cm and the area of the triangle is

a+/3 cm?. Find the value of a .
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1992 HG8 A
ABC 5 - #E& J12cm chE = 645 @ P 5
Z AN HIER - BErBlYTT) 2 P32 = AB-
BC 2 CA e jE#nid{c i xom o fox ehig o
ABC is an equilateral triangle of side V12 cm, and P is
any point inside the triangle (as shown in the figure). B c

If the sum of the perpendicular distances from P to the
three sides 4B, BC and CA is x cm, find the value of x .

1992 FI5.3 L
B¢ »bh=15> F ¢ ehit o
b
In the figure, b = 15, find the value of c . c N
M N
25
1993 F12.1 14
4 O
—,‘é’sinGZg v Few BA55 fa -
If sin O :% , find a, the area of the quadrilateral.
0
.
20
1994 FI12.1
P X Q

403, PORS ® 1Y 5 QR2 ¥ Bh» ® pX=%on

A GBS Z AR FED G Fant o

In square PORS, Y is the mid-point of the side OR and

PX Z%PQ . If A is the ratio of the area of the shaded S

triangle to the area of the square, find the value of 4 .
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1995 F15.4 A D
4B ABCD % - & * A5°AE 1 BD * BE=EO

=20 f£& > 25 4ABCD 2_ % #4 d °

Refer to the figure, ABCD is a rectangle.

AE | BD and BE = EO = 2. E
Find d, the area of the rectangle ABCD .
2002 FI1.1

“+ B¢ »ABCD ¥ - #+£ 5 10 cm et > 4 D
A5 AEB~ FED % FBC 5 ® % » AAED s

Y AFEB ch #4 + 10 cm?e 5 ADFB < f4

L Pcm?s R PenifE o E
In the following figure, ABCD 1is a square of
length 10 cm. AEB, FED and FBC are straight -,

lines. The area of AAED is larger than that of B c
AFEB by 10 cm?. If the area of ADFB is P cm?, find the value of P.

2002 FI3.1

#— £ 2 AEIB AT g o 4
FAABC e A R & > ARG f B

L1 D s Pcm
=gl g’:‘f‘xPE’ﬂ@_o _1ch

A rectangular piece of paper is folded ¢

into the following figure. If the area of B R

NABC is % of the area of the original 10 em

rectangular piece of paper, find the value of P .

2002 F14.2

ATHY CABCD i - £ 3 A, Efc FAawul A D
A_AB4v BC } @k o = & 35 AED ~ EBF v 4

FCD ehg ff & Wl 5 P~3fc 5

EAEFD i ff 5 Q> £ Q iE o E

In the following figure, ABCD is a rectangle. £ 5

and F are points on AB and BC respectively. 7

The areas of triangles AED, EBF and FCD are B F C
4, 3 and 5 respectively.
If the area of AEFD is Q, find the value of O .
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2002 FG2.1
S hrz A5z W enk A u i 68410 Fiz= & )hm 4 & a’ Faehigo
It is given that the lengths of the sides of a triangle are 6, §, and 10 .

If the area of the triangle is a, find the value of a .

2003 HGY

B*¥ %3, ABC % Xz 8 4cm ehfflehe 22 A D
-2 3 BIERIA G f AR E o/ $A) ABCD

G ff 5 Aem? 0 R 4 ahiE o (B n=3.14)

In the figure, the sector ABC is one quarter of a

circle with radius 4 cm. Suppose the areas of the

two shaded parts are equal. Let the area of the

trapezium ABCD be A cm?, find the area of 4 .

(Take m=3.14)

2003 FG2.3

4ol 0 &+ > 35 PORS M &3 AABC -
AAPQ ~ APBS fvAQRC s #4 4 %] &
4~4 v 12 - F 1+ > 35 PORS e f
e RemwiE o

In the figure, the square PQRS is

inscribed in A4BC. The areas of AAPQ, , g P ¢
APBS and AQRC are 4,4 and 12

respectively. If the area of the square is ¢, find the value of ¢ .

2004 FI2.4
4o EBC - £#=47,>4 v D AW & £
EB 4w EC } o ¢ 4= AD//BC» AB=CD=R > _[ ,,,’ ‘\\ i
¥ ACLBD - %7, ABCD ¢ ## %S>

F S g o

In figure, EBC is an equilateral triangle, and 4, D
lie on EB and EC respectively. Given that 4D // BC,
AB = CD = R and AC L BD. If the area of the #
trapezium ABCD is S, find the value of S.

A‘.
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2004 FIS.1

4ol » AABC 5 - 4e& = £35 5 AB=15>AC=13 >
m % AD =12 FAABC o ff 5 P> R P hig o
In the figure, AABC is an acute triangle, 4B = 15, AC =
13, and its altitude AD = 12. If the area of the AABC is P,
find the value of P .

2004 FG2.2
4B AABC - % 4= &2, AB=3 cm»AC=4cm A
2 BC=5cm- % BCDE - 1 » 7,7 AABE

A bem? > F b o

B &
In the figure, AABC is a right-angled triangle, 4B = 3
cm, AC=4 cm and BC =5 cm. If BCDE is a square and
the area of AABE is b cm?, find the value of b .

! D

2005 HG2

¢ 4l 2 A5 ABCD o 4 130ecm? 2 {1 O 5% A~B~C3% D-
FRO s HFA bem? > F benig o (B n=3.14)

Given that the area of a square ABCD is equal to 130 cm? and a circle O passes
through the points 4, B, C and D . If the area of the circle O is b cm?,

find the value of b . (Take ©=3.14)

2005 HGY

CArhzZ £ ABC P - BLOF| =2 435 fend-Eenk BIZ5 2cem o

@ AABC 0% B 5 21 cm » & AABC éhd # £_ kem? > & k ehig -

Given that the perpendicular distances from the point O to three sides of a triangle
ABC are all equal to 2 cm and the perimeter of AABC is equal to 21 cm . If the
area of AABC is equal to k cm? , find the value of & .
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2005 FG2.1
4o 0 & >3 ABCD ¢ > AB=6cm - ’
BC =10cm - M v N » %] E_AB 4v DC ¢?

Bo FIEFNA ha £ E acm® 0 K oa o

& o M

In the figure, ABCD is a rectangle, AB = 6 cm %

and BC =10 cm. M and N are the midpoints of

AB and DC respectively. If the area of the % *' &
shaded region is a cm?, find the value of a .

2008 HI2

¢ freA; PORS gk 2w i PO=6cm>~QR=15cm~RS =8 cm %
SP=25cm > i3 QR//PS- % PORS e 4 5 Yem? > £ Y ehig o

Given that a trapezium PORS with dimensions PO=6 cm , QR =15cm,
RS=8 cmand SP=25cm, also QR // PS .

If the area of PORS is Y cm?, find the value of Y.

2009 HI10

4ol > ABCD & - 43, E 2 FAR S CD 3% AD F ¢ 4 B
# AF =8 cm 2 EC =5cm ° @ 4wl §304 g f# 480

cm? o 3K 4675 ABCD 1 # 5 g cm® » F g ehig o

In the figure, ABCD is a rectangle. Points £ and F'lie on CD

and AD respectively, such that AF =8 cmand EC=5cm .

Given that the area of the shaded region is 80 cm?. Let the

area of the rectangle ABCD be g cm?, find the value of g. © E ¢
2009 HG6
a s s _ _ _ D E F (
4@ » ABCD & - & > 25 AM = NB = DE = FC =
lem 2 MN=2cme% = i#7) PORS & # 5 ¢ cm? R
Fcenig o
In the figure, ABCD is a square and AM = NB = DE = . ¢
FC=1cmand MN =2 cm. Let the area of quadrilateral P
PORS be ¢ cm?, find the value of ¢ .
A M N B
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2009 FI4.2

4rB] » ABACE - 2 4= 435 AB=AC=3cm
@ 4rE L G ABF1 £ BCHp L 3 DX RN A
A nem?> Ffon hlE o

In the figure, ABAC is a right-angled triangle, AB =
AC =3 cm. Suppose that the circle with diameter AB

intersects the line BC at D, and the total area of the

shaded region is n cm?. Find the value of 7 .

2015 HG2

cAirE = 43 ABC eif £ 5 3P 5= &A5p) - B o %k PX~PY 2
PZ »uli P 2= 43528 AB~BC 2 CA ed-%_>

F PX+PY+ PZ ehig o

Given an equilateral triangle ABC with each side of length 3 and P is an interior
point of the triangle. Let PX, PY and PZ be the feet of perpendiculars from P to
AB, BC and CA respectively, find the value of PX+ PY+ PZ .

2015 FG34

e R R R R T | i S B A

Rz £ A4ABCwm Ff g o

In the figure below, the area of each small

triangle is 1. Determine the value of the area of

the triangle ABC .
B
2017 HG6
“BY o35 ABCD ik 5 20- ¢ v DK:KA= A K b
AH:HB=1:3 %2 BK//GD > HC// AN -
KIERR0A PORS hd f4 e H1
In the figure, square ABCD has sides of length 20. Given Q S
that DK : KA=AH : HB=1:3 and BK // GD, HC // AN, R N
find the area of shaded region PORS . B c
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2018 HIS8

YoBliror 0 A BEE S xem fhl AN A€o
EABL S A E A E A G g et L
a:1> & g ehig o

As shown in the figure, two squares with side x cm
coincides at one corner. If the ratio of the non-
overlapping area to the overlapping area of the two
squares is @ : 1, find the value of a .

2021 P1Q6

LB Bz 43, ABC HE 5 15cm-

P i AABC p eh— 8L o j§_ P ¥ AB -~ BC

fr AC ehd-% JEH AL % 5 hem~4 cm e

S5cme K h g o

In the figure, the altitude of an equilateral

triangle ABC is 15 cm . P is a point inside

AABC . The perpendicular distances from P to

AB , BC and AC are h cm, 4 cm and 5 cm

respectively. Find the value of 4 .

C:\Users\85290\Dropbox\Data\My Web\Competitions\HKMO\Classified Questions\Trigonometry\0.5bh.docx

Q

30°

Page 4



0.5ah (HKMO Classified Questions by topics)

Answer
1985 FG6.4
1983 FG7.2 | 1984 FG10.1 | 1985 FSG.4 1 1985 FG9.1
5 cm? 50 200 5 60
1989 FI3.3 1991 FSG.1 1992 HGS 1992 FI5.3 1993 FI2.1
128 64 3 12 136
1994 FI2.1
5 1995 FI5.4 2002 FI1.1 2002 FI3.1 2002 FI4.2
— 40 12 8
T 1643
2002 FG2.1 2003 HG9 2003 FG2.3 2004 F12.4 2004 FIS.1
24 20.56 16 2352 84
2004 FG2.2
9 2005 HG2 2005 HG9 2005 FG2.1 2008 HI2
> 204.1 21 15 96
5009 HIL0 2009 HG6 2009 F14.2 2015 HG2 2015 FG3.4
2 9 3./3 .
200 = = e 10
3 4 2
2017 HG6 2018 HI8 2021 P1Q6
16 2(3-1) 6
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